

$$f(x) = \begin{cases} (a+1)(x+1); & x > 1 \\ 3a+2x; & x \leq 1 \end{cases}$$

$$r f(x) = f(-r) + a \Rightarrow r(a+1)(\frac{1}{r}+1) = (3a+1\epsilon) = 3a - \epsilon + a$$

$$1 \cdot a = -1\epsilon \Rightarrow a = -1, 1 \quad \checkmark$$

$$f(x) = \sqrt{x} + \frac{1}{\sqrt{x}} + r / f(r\sqrt{x}), f(r\sqrt{x}) \quad \left(\sqrt{r-\sqrt{r}} = \frac{\sqrt{r}-\sqrt{r}}{r} / \sqrt{r+\sqrt{r}} = \frac{\sqrt{r}-\sqrt{r}}{r} \right)$$

$$\sqrt{r-\sqrt{r}} + \frac{1}{\sqrt{r-\sqrt{r}}} + r + \sqrt{r+\sqrt{r}} + \frac{1}{\sqrt{r+\sqrt{r}}} + r = (r+\sqrt{r})(\sqrt{r-\sqrt{r}}) + (r-\sqrt{r})(\sqrt{r+\sqrt{r}}) + \epsilon$$

$$\sqrt{r+\sqrt{r}} \left(\frac{\sqrt{r}-\sqrt{r}}{r} \right) + (r-\sqrt{r}) \left(\frac{\sqrt{r}+\sqrt{r}}{r} \right) + \epsilon = r\sqrt{r} + \epsilon \quad \checkmark$$

$$\frac{1}{r} (r f(x) - r f(-r) = \epsilon x^r - x) \rightarrow \frac{\epsilon}{r} f(x) - x f(-r) = \frac{1}{r} (\epsilon x^r - x)$$

$$r f(-r) - r f(x) = \epsilon x^r + x$$

$$r f(-r) - r f(x) = \epsilon x^r + x$$

$$-\frac{\delta}{r} f(x) = \epsilon x^r + x + \frac{1}{r} x^r - \frac{1}{r} x$$

$$-\frac{\delta}{r} f(x) = \frac{r \cdot x^r + x}{r}$$

$$f(x) = \frac{-r \cdot x^r - x}{\delta} \quad \checkmark$$

$$\frac{r \cdot x^r + x}{r} = \frac{r \cdot x^r + x}{r}$$

$$x = -r \Rightarrow f(x) + 4f(0) = 14 + 2m + 3m - 1$$

$$r = 0 \Rightarrow r f(0) = 3m - 1$$

$$(3m-1) \cdot r = 14 + 2m - 1$$

$$9m - 3$$

$$\Rightarrow \epsilon m = 11 \Rightarrow m = \epsilon \cdot 11 \quad \checkmark$$

$$r f(0) = 3(\epsilon \cdot 11) - 1$$

$$f(0) = \frac{r \cdot 0}{\epsilon} \quad \checkmark$$

$$f(x) = ax + b$$

$$f(\frac{1}{x}) = \frac{a}{x} + b$$

$$f(x) + f(\frac{1}{x}) = ax + b + \frac{a}{x} + b = \frac{ax^2 + 2bx + a}{x}$$

$$\frac{ax^2 + 2bx + a}{x} = \frac{3x^2 - 14x + 3}{x} \Rightarrow \begin{cases} a = 3 \\ b = -7 \end{cases} \Rightarrow f(x) = 3x - 7$$

$$f(-1) = 3(-1) - 7 = -10 \quad \checkmark$$

$$9 \cdot 11 = 99$$

$$\frac{11}{9}$$

$$\frac{1}{9}$$

[illegible]

①

4

✓

2)

3

2

2

②

Δ